0.800

o
>
-
o
S
-
Y Y
(m) Gs w(%) vyt A(m?) v(m/ )
0.800 2.543 80.500 1.506 1.166 2.833
1.180 2.650 50.000 1.710 1.913 4.649
————— 2.617 59.395 1.633 -—— ———
% w ) % W ) % W ) W )
0.00 0.000| 5.00 0.118| 95.00 2.246 2.364
0.00 0.000| 0.00 0.000 | 100.00 5.300 5.300
0.00 0.000| 1.54 0.118| 98.46 7.546 7.664
w + 100
w + 100 / Gs
V % vt x 100
Yt > 700 « w
12.216 - 7.664
> - -0 - 0
7 664 > 100 = 59.395 (%)
7.664

7.482 - 4.

553 - 2.617




D
2)
3)
4)

6)
7
8)
9
10)

11)
12)
13)
14)
15)

Po

Lp

2.430 (/ )

1650
Bs 1.980 (m)
L 100.000 (m)
Lp 2.430 (n/ )
S 60 (mm/min)
Q, 1.098 (m*/min)
o} 1.150
Gs 2.617
w 59.40 (%)
S, 0.00 (%)
S, 1.54 (%)
S, 98.46 (%)
C, 50.00 (Wt%)
X 70.00 (%)
Ld 5.10 (m/ )
t 8C )
n 210 C /7 )
A=T>< BSZ—TX 1.9802
= 3.079 (M)
S 60
g=A 1000 - 3.079 =< 1000
= 0.185 (m/min)
d,
= 0.1053 (m)
8, =7 < df = 70 > 0.105%
= 0.0087 (Mm?)
g9
3 9.8 (n/s?)
Vo= F > A / 2gdzu(Durand )
Po
2.617 - 1.00
= 1.345 x< \/ 2 > 9.8 > 0.1053 > ~ 1.00

=1.00

Q, = a > V, > 60 = 0.0087 > 2.457 > 60

Q,=0Q,-q=1.283 - 0.185

2.457 (m/sec)

= 1.283 (m/min)

= 1.098 (m*/min)

10 1.5
10 =< Q) > 1.5 =10 > 1.098 < 1.5
= 16.47 ()
V, > (py) = 16.47 =< 1.150
= 18.94 (t)

- Gs =< (P; - Py
P =< (Gs - Py

> 100



Po

Po

2.617 > (1.150 - 1.000)
1.150 =< (2.617 - 1.000)

> 100

= 1.00
Wag = W, = —& = 18.94 > 2m:iL
% = Vo > 790 7 *°- 100
) (100 - C) _ (100 - 21.11)
Wwy = Wy > 10 - 18.94 > 10
Wy = Way + Ww, = 4.00 + 14.94
Va. = Wa, ~ 4.00
% =Gs - 2.617
Gy < M _ 14.94
% = 5. 7 1.000
V, = Va, + Vi, = 1.53 + 14.94
V, = Q = T=1.008 > 40.50
Lp _2.430
T =2 > 1000 = == > 1000
W, =V, < p, = 44.47 > 1.150
Gs =< (P; - PY)
C o= > 100
'opy < (Gs - Py)
_ 2.617 > (1.150 - 1.000)
= 1.150 < (2.617 - 1.000) < 00
= 1.00
Wa, = W, < —L = 51.14 = 22t
a =W >0 T O 100
) (100 - C) _ (100 - 21.11)
My = Wy < ST = 5L = e

W, = Wa, + Ww, = 10.80 + 40.34

va < Yo _ 10.80
& = 6s T 2.617
v o M 40.34
=5, T 1.000

V, = Va, + Vw, = 4.13 + 40.34

21.

14.

18.

14.

16.

44.

40.

51.

21.

10.

40.

51.

40

44.

11 (W)

.00 (1)

94 (t)

94 (t)

.53 (m®)

94 (m®)

47 (m®)

47 (W )

50 (min/ )

14 (t/ )

11 (Wew)

80 (t/ )

34 (t/ )

14 (t/ )

A3 (/)

.34 (7 )

47 (W )



TT TT
V, = — > Bs? x Lp =7 > 1.980% >< 2.43

4
= 7.48 (m/ )
w + 100 59.40 + 100
YU=U5100 Gs  50.40 + 100 2.617
= 1.633
W, =V, < vyt =7.48 =< 1.633
= 12.21 (t/ )
100 100
Wa, = Wo > 700 + wy ~ 12-2L > (100 + 59.40)
= 7.66 (t/ )
w 59.40
Ww, = W, Xm=12.21 ><(100+—59_40)
= 4.55 (t/ )
W, = Wa, + Ww, = 7.66 + 4.55
= 12.21 (t/ )
Wa, 7.66
Ve = Gs < 2.617
= 2.93 (W7 )
o g 4.55
27 p, ~ 1.000
= 4.55 (m/ )
V, = Va, + VW, = 2.93 + 4.55
= 7.48 (W7 )
Wr, = Wa, X%:Y.GG X%
= 0.00 (t/ )
Ws, = Wa, X%:Y.GG X%
= 0.12 (t/ )
WCZ:WaZX%:lGG X%
= 7.54 (t/ )
Ww, = 4.55
= 4.55 (t/ )
W, = Wr, + Ws, + Wc, + Ww, = 0.00 + 0.12 + 7.54 + 4.55
= 12.21 (t/ )
W 0.00
2 Gs 2.617
= 0.00 (m/ )
o o Vs _ 0.12
2 Gs 2.617
= 0.05 (m/ )
o o Ve, 1.54
2 Gs 2.617
= 2.88 (m/ )
v o g 4.55
27 p, ~ 1.000
= 4.55 (/)
V, = Vr, + Vs, + Vc, + Vi, = 0.00 + 0.05 + 2.88 + 4.55
= 7.48 (m/ )



Wby, = Wr, + Ws, = 0.00 + 0.12
We; = Wa, + Wc, = 10.80 + 7.54
Vb, = Vr, + Vs, = 0.00 + 0.05
Ve, = Va, + Ve, = 4.13 + 2.88
Wag = Wby + Wc; = 0.12 + 18.34
Ww, = Ww, + Ww, = 40.34 + 4.55
Wy = Wa; + Wwy = 18.46 + 44.89

0.05 + 7.01

Va, = Vb, + Vg,

Vw, = Vi, + Vw, = 40.34 + 4.55

V, = Va, + Vw, = 7.06 + 44.89

0.12 (t/ )
18.34 (t/ )
0.05 (W/ )

7.01 (v )

18.46 (t/ )

44.89 (t/ )

63.35 (t/ )
7.06 (W7 )

44.89 (v )

51.95 (n/ )

1.219

29.14 (Wt%)



100%
40(Wth)

Wr, = Wr, = 0.00

Ws, = Ws, = 0.12

Way

— (WI’4 +

Ws,)

10(Wt)

0.00 (t/ )

0.12 (t/ )

We, = (Wr, < 0.1 +Ws, < 0.4) =<

Wy + {Wag - (Wr, + Ws,)}

18.46 - (0.00 + 0.12)

= (0.00 >< 0.1 + 0.12 =< 0.4) x<

yp o W 0.00
'v = Gs ~ 2.617
W, _ 0.12
VS: =65 T 2.617
Vo o e _ 0.01
€= 6s T 2.617

Wa, = Wr, + Ws, + Wc, = 0.00 + 0.12 +

Ww, = (Wr, < 0.1 +Ws, > 0.4) - Wc,

W, = Wa, + Ww, = 0.13 + 0.04

Va, = Vr, + Vs, + V¢, = 0.00 + 0.05 +
_ W, 0.04
W =57 1000

V, = Va, + Vw, = 0.05 + 0.04

A _ 0.0s
P, = Wa, > 100 = 13 < 100

0.01

0.00

(.

00 >< 0.1 +0.12 >< 0.4) - 0.01

44.89 + {18.46 - (0.00 + 0.12)}

0.01 (t/ )

0.00 (/)

0.05 (W/ )

0.00 (W/ )

0.13 (t/ )

0.04 (t/ )

0.17 (t/ )

0.05 (m/ )

0.04 (/)

0.09 (m/ )

30.77 (%)



Wa, = Wa, - Wa,

Wwg = Ww; - Ww, =

18.46 - 0.13

44.89 - 0.04

W, = Wa; + Ww, = 18.33 + 44.85

_ Wag
Vas = o
Vi =

Po

Wws _

18.33

T 2,617

Vs = Vag + Vi, = 7.00 + 44.85

2 s
p5 V5
_ Wag
Cs = m

a|lo
=W
=
(S0 el

18.33

63.18 ~ 100

18.33 (t/ )

44.85 (t/ )

63.18 (t/ )

7.00 (m/ )

44.85 (W )

51.85 (n/ )

1.219

29.01 (Wt%h)



Vo = 10 < > 1.5

Wac, = V, < P, =< C, 100 = 16.47 > 1.15 = 21.11 100

= 4.00 ()
Wwe, =V, < p,; > (100 - C) 100
= 16.47 =< 1.15 =< (100 - 21.11) 100
= 14.94 (t)
[( - ) al
a = (D) (Vo) = 44.47 16.47
= 2.700
_ (Was - Wa,) (18.33 - 10.80)
Wac, = Wac, + T o - 4.00 + o700
= 6.79 (t)
_ (Wws - Wwy) (44.85 - 40.34)
Wwe, = Wwe, + T a - 14.94 + o700
= 16.61 (t)
Wc = Wac, + Wwc, = 6.79 + 16.61
= 23.40 (t)
_Wac, 6.79
Vac, = 6s = 2.617
= 2.59 (m%)
Vive. = Wwe, 16.61
e = "5, T 1.000
= 16.61 (m®)
Vc = Vac, + Vwc, = 2.59 + 16.61
= 19.20 (m®)
_We _ 23.40
PC = Ve T 19.20
= 1.219
6.79
— 2 - =
Cc = e S 100—23_40 > 100
= 29.02 (Wtk)
@ 0
() (o}
© (Co) = 50(Wth)

Py
_ (2 < 6s) (2 x2.617)
Ps="Gs + 1) ~ (2.617 + 1)

= 1.447



Vi< Vg | V=V | V>V,
P, < PC Casel Case4 Case7
P, = PC Case2 Caseb5 Case8
P, > PC Case3 Caseb Case9
A 4447 (m¥/ )
Vs 51.85 (m/ )
P, 1.150
Pc 1.219
Vv, Vs Py Pc Case 1
Case 1
(Pc) (o))
z
(Vo-2) x pc+zxpy=V, < P
z=(p;, - PC) x VY, (Po - PC)
= (1.150 - 1.219) > 16.47 (1.000 - 1.219)
= 5.19 (m®)
A 16.47 (m®)
Po 1.000
P, 1.150
Pc 1.219
a" =z = 5.19 ()
b* =V, -V, = 7.38 (m)
c" = 0.00 (m®)
d" =z = 5.19 ()
z
(P, = 1.0)
Vo - 2
(Po)
z
- (Po)
a=-a" < o =5.19 x 2.700
b=>b"=7.38
c=c" < ao=0.00 = 2.700
d=d" < o =5.19 < 2.700

14.01 (m*/
7.38 (m/
0.00 (m/

14.01 (m/



10.

Wa, = Va, > Gs = 1.89 > 2.617

W, = Vi, = 12.12

W, = Wa, + Ww, = 4.95 + 12.12

Va, = a < pc > Cc Gs
14.01 > 1.219 > 29.02

Vw, = a - Va; = 14.01 - 1.89

V, = Va, + Vw, = 1.89 + 12.12

100
2.617

Wag = Vag >< Gs = 1.00 =< 2.617

Wwg = Vwg = 6.38

Wy = Wa + Ww, = 2.62 + 6.38

Vag = b < pc < Cc Gs
7.38 =< 1.219 > 29.02

Vi, = b - Va, = 7.38 - 1.00

Vs = Vag + Vg = 1.00 + 6.38

100
2.617

Wa, = Vag >< Gs = 0.00 =< 2.617

W, = Vi = 0.00

Wy = Wa + Wy = 0.00 + 0.00

Vag = ¢ < Py >< Cqy Gs
0.00 > 1.447 > 50.00

Vi, = ¢ - Va, = 0.00 - 0.00

Vo = Va, + Vig = 0.00 + 0.00

10

100
2.617

100

100

100

12.

17.

12.

14.

.95 (t/ )

12 (t/ )

07 (t/ )

.89 (/)

12 (v )

o1 (m/ )

62 (t/ )

.38 (t/ )

.00 (t/ )

.00 (m/ )

.38 (m/ )

.38 (/)

.00 (t/ )

.00 (t/ )

.00 (t/ )

.00 (m/ )

.00 (/7 )

.00 (/7 )



11.

12.

13.

14.

15.

=
S
1"

<
S
"

Wwy, =

X = 70.00(%)
Wa,, =

Ww,, =

<

1

_ Ya,
Wll

Wa,,

Wa,, ><

Vy = 14.01

d = 14.01

= Wa, + Wag = 4.95 + 2.62
Ww, + Wwy = 12.12 + 6.38
Wa,, + Ww,, = 7.57 + 18.50
Va, + Va, = 1.89 + 1.00
Vi, + Vg = 12.12 + 6.38
Va,, + Vi, = 2.89 + 18.50
W,  26.07

=7.5

Vg - Wy, = 13.20 - 0.00 - 14.01

=Va, = 2.8
= Wwy, = 5.3
= Va, + Wy,
= Wwy, - Wwy,
W, = 13.20
W13 -
W, = -0.81

T 21.39

7.57
> 100 = -——= > 100

26.07

7

= 7.57 <

= Way, + Wy, = 7.57 + 5.30

9

0

=2.89 + 5.30

= 18.50 - 5.30

11

70.00

X
100 100

14.01 (t/ )

14.01 (m*/ )

7.57 (t/ )

18.50 (t/ )

26.07 (t/ )
2.89 (W )

18.50 (n*/ )

21.39 (W7 )

1.219

29.04 (Wt%h)

7.57 (t/ )

5.30 (t/ )

12.87 (t/ )
2.89 (W )

5.30 (W/ )

8.19 (W/ )

13.20 (t/ )

13.20 (n/ )

-0.81 (t/ )



-0.81 (m/ )

16.
= ., =1.150
t/ 10.80 40.34 51.14
m/ 4.13 40.34 44 .47 = - = 59.40%
t/ 7.66 4.55 12.21
= e, =1.219 m/ 2.93 4.55 7.48
t/ 18.46 44,89 63.35
m/ 7.06 44,89 51.95
- = 30.77% = = . =1.219
t/ 0.13 0.04 0.17 > t/ 18.33 44 .85 63.18
m/ 0.05 0.04 0.09 m/ 7.00 44,85 51.85
= - = 29,02%
t/ 6.79 16.61 23.40
m/ 2.59 16.61 19.20
t/ 4.95 12.12 17.07 t/ 2.62 6.38 9.00
m/ 1.89 12.12 14.01 m/ 1.00 6.38 7.38
- - e, =1.219
t/ 7.57 18.50 26.07
m/ 2.89 18.50 21.39
t/ -0.81 -0.81
m/ -0.81 -0.81
= = 70.00% = -
< t/ 7.57 5.30 12.87 t/ 13.20 13.20
m/ 2.89 5.30 8.19 m/ 13.20 13.20




17.

[V:] [Wa,]
S 0.060
Vo > T 7 5195 > 530
= 1.28 (m*/min)
S > 60 0.060 > 60
Wa, > Lp = 0.13 =< 130
= 0.19 (t/hr)
S 0.060 (m/min)
Lp 2.430 (m)
(m*/min) (kw) () (t/h)
2.0 33.0 8.7 30
4.0 69.0 11.6 40
= 2.0 (m*/min) = 30 (t/h)
18.
[Vi.]
V, = 8.19 (m/ )
Cm > n 60 >< 2.10
Vo < o<t 819> "o =< 8
= 2.15 (m/ )
Cm 1 60 ( /7 )
(m/ ) 5.10
n 1 7 ) " 2.430 210 ( /7 )
t 1 8 (hr/ )
() ) () (kW) ®
1.1 60 70 24.0 13.5
1.7 90 100 24.0 17.5
2.2 90 135 25.0 20.0
3.3 90 200 25.0 27.2
2.2 (m)
1 Vi, > n 8.19 < 2.10
= - = = 2.2 ( )
= 7.82 ()
< Cm 7.82 =< 60
- 60 =" e (M
= 7.82 (hr)
1 1 (Cm)  60min
+30min
2.

13



19.

10 1.5 [Vl
V, = 16.47 (%)
() (ki) ®
10 2.2 2.0
15 3.7 2.5
20 5.5 3.2
25 5.5 3.6
=20 (m) = 5.5 (kW)
20.
[Vul
@ (Vi) = 21.39 ()
B v, 21.39
@21 = v, 2.2 < 19
() (ki) ®
10 2.2 2.0
15 3.7 2.5
20 5.5 3.2
25 5.5 3.6
= 25 (m®) = 5.5 (kW)
21.
22.
[Vl
Vy; = 13.20 ()
() ®
10 2.3
15 2.5
20 3.0
25 3.3

= 15 (m)

14

= 5.75 (%)



23.

[Vi]
Vy, = 14.01 (W/ )
(D) ()
10 2.3
15 2.5
20 3.0
25 3.3
= 15 (m)
24.
[Vel
Vo = 0.00 (W/ )
() (kW) ®
3 4.0 1.05
5 8.0 1.45
Vo = 0.00 (W )
25. CMC PAC
cmC V= 3m
PAC vV = 6md
() (D) (9]
3 2.0 0.7
26.
[+Vi]
6m3/hr
_ Vi >xn_ -0.81 < 2.10 _
=T s . = -0.28 (hr)
) w ) 510 _
n 1 = 7 ) 2.3 - 210C/ )
(m%/h) (t)
6 0.55

Vy, < 0.00 (m¥/ )

15



27.

(D) Vo)
= (Vy, +Vy,) > n=(0.09 +8.19) < 2.10
= 17.39 (m®)
Vv, 0.09 (m/ )
Vi, 8.19 (m/ )
(m/ ) _ 5.10
no1 7 ) 2.3 - 0C/7)
(m°) ®
10 5.5
20 9.0
30 13.5
=20 (m®)
28.
L 100.00
1) = Wa, > p - 0.00 = > 430 - 0.00 (%)
Wag: 0.00 (t/ )
L: 100.00 (m)
Lp: 2.430 (m/ )
Wn
Wag
Wn =
yn > (1 - Gsn / 100)
0.00
T 1.6 >< (1 - 40/ 100) ~ 0.00 (v )
Vn
_ Mn _0.00 _ .
Vn = yn o 1.6 - 0.00 (m/ )
yn - 1.6
Gsn : 40 (%)

L
2)CMC = {Vy + V;} > 1Kg > L_p

100.00
= {0.00 + 14.01} > 1 = ——=" = 576.54 (kg)
Vi, 0.00 (m/ )
Vot 14.01 (m/ )
L
3)PAC = Wa,, > 20kg > L_p
= 7.57 < 20 =< 100.00 _ 6230.45 (ki
-l 2.430 - 0230-45 (ko)
Wa,,: 7.57 (t/ )
L: 100.00 (i)

16



PAC 20.0kg/t

L
4) =V, x—=-081 %

Lp

A
5)
Via:
6)
CMC
PAC

Vi

100.00
2.430

= -33.33

®

-0.81 (m/ )

L
Vi, >< 0.44kg > L_p

-0.81 < 0.44 x< =

100.00

2.430

-14.67 (kg)

-0.81 (M/ )

0.00 (t)
0.00 (t/
0.00 (m/
576.54 (kg)
6230.45 (kg)
33.33 (t)

-~ (k)

)
)

17



D
2) B,
3) L
4) H*
5) I,
6) I,
7 (+GL) h
8) S
9) P,
10) « ) d
11) « ) d,
12)
a pS
b P1
- Po
13)
a.
Sy
S
S
b. W
C. G
14) g

15)

1650

1.980 (m)
100.000 (m)

7.500 (m)
20.000 (m)
20.000 (m)

5.000 (m)
60.000 (mm/min)
120.000 (kN/m%)
0.1552 (m)
0.1552 (m)

2.617
1.150
1.000

0.00 (%)
1.54 (%)
98.46 (%)
59.40 (%)
2.617

9.8 (m/sec?)

200V - 50Hz



@

A (m)
— _T[ 2
A =B,
= %><1.9802 = 3.079 (m)
K (vol%)
1 pPw
L YU (- Tes ) - L |
K3 1+e ~ Gs Y "’
pw
1 1.000
) V-7 5940 100 - 267041 ) "
= 26 ><100 = 39.15 (vol%)
1.000
q (m/min)
S
4 = A<T1000
) 60.000 .
= 3.079><—1000 = 0.185 (m*/min)
G (m*/min)
o et
= 97100
) 39.15 .
= 0.185x 00 - 0.072 (m*/min)
@
a, (M)
a, = %xdzz
TT
= —;0.1552% = 0.0189 (I1®)
V. (n/sec)
Durand
Gs - Pg
V, = Fx< 2x<gx<d,——— Durand
Po
2.617 - 1.000
= 1.345% 2>9.8>0.1552><—————— = 2.983 (m/sec)
1.000
F - 1.345
( F=1.33 1.36)



Q, (m*/min)

Q = a,><V, ><60
= 0.0189><2.983><60 = 3.383 (m*/min)
Q, (m*/min)
Q=0-9q
= 3.383 - 0.185 = 3.198 (m*/min)
6)
C, (vol%)
Cl 5 MX].OO
Ps - Po
1.150 - 1.000
= 5817 — 1000 <100 = 9.28 (vol%)
C, (vol%)
C,><Q, + 100<G
C, =
Q,
_9.28><3.198 + 100x=<0.072 10.90 1%
- 3.383 = 10.90 (vol%)
P:
G, < (G - Po)
pZ = pO + . 1500 .
10.90>=(2.617 - 1.000
= 1.000 + > ) - 1176
100
@D
a, (M)
TT
31 = Txd12
TU
= T><0.15522 = 0.0189 (m?)
V, (m/sec)
__ 9
Vi = a,><60
3.198
= 0018960 - 2.820 (m/sec)
@
V, (m/sec)

V, =V, = 2.983 (m/sec)



@

Q, (m*/min)

Q, = 3.198 (m*/min)
hf, (m  /m) ( )
o 98.9>V,?
1 C1'85><d11/6><V10'15><d1><2><9_8 <P,
98.9><2 8202

= T120.000-%>0. 155262, 820° 50,1552 29 .8 ~~1-1%0 = 0.049 (m  /m)
TH; (m )

101<P,

1

TH, = (L + H* + 1, + I))><hf, - H" +

10><120.000

= (100.000 + 7.500 + 20.000 + 20.000)>=<0.049 - 7.500 + 1.150 = 10.162 (m)
TH, :
L : 100.000 (m)
H* - 7.500 (m)
1, : 20.000 (m)
I, : 20.000 (m)
hf, : 0.049 (m /m)
Vv, : 2.820 (m/sec)
d, : ( ) 0.1552 (m)
P, : 120.000 (kN/m?)
P : 1.150
@
| (rpm)
(mm) | (m (kW) | (Hz) | 50Hz | 60Hz | P )
15 11| 50/60| 1430| 1710 4 1
20 15(50/60| 1430| 1710 4 1
150.000 25 22| 50/60| 1430| 1710 4 1
20 22| 50/60| 1350| 1480 4 1
25 30| 50/60| 1350 1480 4 1
TH, = 10.162 (m) 15.0 (m)



®

hf, (n /m) ( )
. 98.9<V,?
2 T TCIEed, VoV, B, <2><9.8 ><P;
= 98.9>2.98%° ><1.176 = 0.056 /
= T120.000°5=0. 15526298350 15522 =<0.8 ~1-176 = 0.056 (m m
TH, (m )
10-t<P,
TH2=(L+H'+I2+h+I0)><hf2+H'+h—TW
2
= (100.000 + 7.500 + 20.000 + 5.000 + 20.000)>0.056 + 7.500 + 5.000 -
101120000
T 176 = 10.836 (m)
TH, :
L 100.000 (m)
H 7.500 (m)
I, : 20.000 (m)
1, : 20.000 (m)
h : (+GL) 5.000 (m)
hf, : 0.056 (m /m)
Vv, : 2.983 (m/sec)
) o ( ) 0.1552 (m)
P, : 120.000 (kN/m?)
P, : 1.176
Q)
| (rpm)
(mm) | (m) (kW) | (Hz) | 50Hz | 60Hz | P )
15 11|50/60| 1430 1710 4 1
20 15|50/60| 1430 1710 4 1
150.000 25 22| 50/60 | 1430| 1710| 4 1
20 22| 50/60 | 1350| 1480| 4 1
25 30| 50/60| 1350| 1480 4 1
TH, = 10.836 (m) 20.0 (m)
®)
HsF = -1.3RNPSH + — 12—V it v
st=-% . P,=<10.0 ~ 2xg
10.300 - 0.240 20.000 2.9832
= -1.3>2.941 + 1.176 1.176=<10.0 ~ 2x9.8
=5.978 (m )
Hsf
Ls = g
_ 5.978
= 0.056

= 106.750 (m)



L = 100.000

NPSH = 8.1>Q,73><N*3><10° = 2.941 (m)

L Ls
Hsf : (m )
Q :
N -
Hb
Hv (20
P, :
P :
Vv, :
hf, :
g
®
SPD2-150C SPD2-150C
vol% 10.90 9.28
1.176 1.150
mé/min 3.383 3.198
m 10.836 10.162
m 20.000 15.000
1 1
200-50
rpm 1430 1430
kw 15.0 11.0
P 4 4

3.383 (m*/min)
1430 (rpm)
10.300 (m )
0.240 (m )
20.000 (kN/m?)
1.176 (kN/m?)
2.983 (m/sec)
0.056 (m /m)
9.8 (m/sec?)



